MULTIPLICATION: DECIMAL NUMBERS (H - SET 4)

TWO DIGIT DECIMAL NUMBERS Rame:
Time: Score: y—
31 (0.0008 x 0.0064 = 100 (0.0006 x 70 =
3920 0.009 x 95 = 1070.005 x 17 =
393 () % 0.0038 = 108) - 0.0005 x 51 =
1 (0.8 x 0.0023 = 099 x 34 =
395 0.01 x 0.38 = 10 0.8 x4.9 =
306 (0.06 x 0.077 = a1 (0.0005 x 0.81 =
397 0.6 x 0.13 = 12) (.01 x 0.083 =
3% 0.05 x 19 = 13 0.01 x 0.32 =
300) () X 4.7 = a19(0.0009 x 0.15 =
1000 0.0007 x 0 = 150 0.01 x 4.7 =
101 (0.008 x 96 = 16) - 0.0005 x 0.35 =
102 0.4 x 0.0073 = an Tx 1=
103 0.04 x 0.0098 = a0 X o=
019 (0.09 x b4 = 196 X 6.3 =
105 (0.002 x 0.57 = 200 1 x 0=
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